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GRADE 11 

Functions 7 
Practical problems. 

 

WEBSITE NOTES  

TOPIC:     
• Practical problems and applications 
 

 
Example 1 
If (2; 7) is the turning point of  f(x) = -2x2 - 4ax + k, find the values of the constants a and k. 
 
Answer 
Turning point formula for x-coordinate  

𝑥 =
−𝑏

2𝑎
  

𝑥 =
−(−4𝑎)

2(−2)
=

4𝑎

−4
= −𝑎  

Therefore a = -x 
x = 2 (Turning Point) 
a = -2 
Substitute a = -2 and y =7 and x = 2 into f(x) 
f(x) = -2x2 - 4ax + k 
7 = -2(2)2 – 4(-2)(2) + k 
7 = -8 +16 +k 
7+8-16 = k 
15-16=k 
-1 = k 
Therefore a=-2 and k=-1 
 
Example 2 (Try yourself) -Past Paper Question 

  
 

MAKE SURE YOU GO THROUGH YOUR GRAPH AND FUNCTION 
NOTES TO HELP YOU. 


